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LOGIC AND PHILOSOPHY
(Theory)

Full Marks : 100

Pass Marks : 30
Time : Three hours

The figures in the margin indicate Jull marks
for the questions.

N Il earries Limark [EOCH. . k. ot ot 1x12=12
@) Nos; é— 13 carry 2 marks each.................. 2x12=124
Q. Nos. 14-23 carry 4 marks each ............... 4x10=40
Q. Nos. 24 -27 carry 6 marks each ................. 6x4 =24
Total =100
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(any twelve) 1x12=12 (d) ‘The ground of Induction is the result of induction’ — WHo
made this statement ?

1. Give very short answers :
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What is the ideal of Logic? ‘
(a) & ([ElATE non—voluntary actions regarded as objects of moral
judgement ?

SRS (AR e Rve Reaae Roitst ozl <= =1 @7
SRS TR & e [ole [asae BHE o=e <= 3

WA ST =7 2

waEnE Sl & 2

R RET S 19

Sfeq fafmme a1 den @172

(b) ‘The conclusion of unscientific induction is certain’ — Is it |
R0 it | (/i Name the th hich
| ] cory which states that the external world can be
| :
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(c) Does Analogy depend on the Law of Causation ? _ v
' (g) ‘Electricity is a fluid’ — What type of hypothesis is this ?
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(h) What, according to Indian Philosophy, is the Supreme and

Ultimate end of human life ?

SR . SR TFE G b & Al S e
ST T AT SFRE IR ba TR ) S e

TRA Rt anfed gy e St I e g = 2

() ‘Primary qualities are the necessary properties of an object’ —

Is it true ?
S @A T SR & — TR Y (2
sitelfS Goe]l TE G0 T8 AT [@HE — S0 [F A9y

i - at ~ Lot '\\-,—_
e TR SRR AR HRE — S 6w 2

(i) What does the external aspect of Religion refer to?
y3fq Qe oiE & IeIH ¢
4 qifee Wt S @RI
SRy STEse et H IR ?
(k) ‘Ethics 1s a‘positive science’ — Is it true ?
Sifonirg Baaln RER — SRR 79 (@2
Sy Gagly [em — 326 & To?

‘S fafire fafamaR e — aemEn or a2
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()  On which canon of elimination is the Method of Agreement
~ established ? |

SAFRER (TG R SRS SEA] YFe Ao 2
SIPIRCR (e F@iod SHAE SRl Amte efsfe 2

TRAEE e G g TEdr sTesed Magasie) 2

(m) What is the third stage of hypothesis ? |

YTEA DO B! 75 2
RFCE PO B 2
| T ATt ey e w2
(n} Does the Method of Difference yield a certain conclusion ?
o Wﬁmﬁaﬁ fif*cs Fraw M@ @2
e smhea a@el & o [Ece Fae o
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2.  What do you mean by qInduction proper’ ? 2
3F<TC wa 3 & ge?
‘Yape Sl FEO Pl EICL

TS AT e /i ?
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Or [ 72 [ @940 [ Tar
Why is the conclusion of Scientific Induction certain ?
e S s R AR
e SeEEE Prae @ WEee ?
fafirrTR sReemats’ feiersan A & m?

3. Give an example of ‘Plurality of Causes’.
T TREAT @ SR Wl |
Tt PR G G0 SR TS |
SRR e emfer ' wg fafefer 2
or / Azt | @A [ T&T
Give an example of positive condition.
AR G Ao Twizsel |
MeF TATACER G THIZAd WS |
T R B fafefy @
4. Mention any two characteristics of experiment.
oifrmers Rl 7o) e T |

R (F-CPICA E‘FW@? (e |
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Give a concrete example of the Method of Residues.

AR &fo3 b1 Irwa Twizsel 3|
SRR oafen a5 i Swiead we |
ST AT AREN Ay e fSefe & |

Why is the Idealism of Leibnitz called Pluralistic Idealism ? )

SRR SRR 5 T SRR 96 @R 202

e SRR T2l SR (3 JeT) 2H 2
AR o ) A SR e S S S
Or [ RS [ @3_) [ €ar
Write any two characteristics of Objective Idealism. 2
IS CRAVS RCPic 76! G@AXigy 11l | |
S CRRAIWE (I~ 76 @ e |

HAEIR 37 Ve SrafEsm g sy ol

What do you mean by ‘moral obligation’? 2

Thos Agreica’ s i e e
“TroT YTSIAIY TE0e T @GN 2
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Or / M2<1 [ &%) [ Tar : 11. What is Secondary Quality ? Give an example. =2

What is Voluntary action ? 2 (ATl %o BIF @ANCE 2 G SwiRse |
afizss el FiF @E e | : ¢ (T @4l i 0 2 G Sareel wie |
aftzs Tl I 9@ 2 B | ORI T T g€ ? A fafefy 22
12. Define Hypothesis. | S
8. Write two characteristics of Naive Realism. 2 s e fma |
e GRS 751 Qe B ‘ AT AT 7S |
wwﬁtﬁﬁ@mim M =S R B
Wuﬁvm@ﬁaﬁnma@%mz | - Or /[ 721 [ 924 | war
Give an example of Hypothesis concerning collection. 2

9. Mention any two conditions of a valid hypothesis. 9 .
G oo G s 7 7 29w @ o faz |
94 275 APl 75 b S 9| Al 7z =i EEEs
Az AET TEE dvEa b Srigge TS |

TR ITSEAE WM 99 A Jaa fafefr g2

G 4 2 (=PI T T S |
S T EF AEGTA SEESTE 3 RAE gy

: * 13. Give a concrete example of Method of Agreement and Difference.
10. Who is regarded as the Father of Modern Philosophy » What is his " p g ;

0 _
famous saymg : g 1+1=2

i S-S simied O Awa Srigad i

wqﬁ%zﬁmﬁmﬂqﬁrﬁﬁw’@&@ww?wﬁﬁqmﬁm%?
el 2 pl il e S R . ® S |-IfOER] AGies Yo AT SriRdd W |
\“:w{ﬁa T Imﬂa{cﬁ?ﬁﬁfﬁ OIS 9 2317 Wi Wm@%ﬁ;a9 ﬁ[ =30 |- [IRETS) 2

A ‘ 5 S Stadd ' ' TRE SR FRAY seat 2 Amerei ek @l
TierH Ff= i fermHed B JRl &Wm?mﬁﬁﬁf@a‘ﬁ s T AN ThRE
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14. Write any four characteristics of Analogy. 4

15.

115},
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AT SIS [[ICpIeal BIST iy =i |
AT SRR (-SRI IR (A% (ETedl |
A SEfasd JHe sTgeE fo|
Or /[ 7291 [ 5341 / qar
Define Bad Analogy with an example. 0+0=4
5] SHIIITR AT Al |
G5 TuIRHeTE OIS AEIHICE T 7le |
T fafefersi mfy 7o g% &8
Distinguish between Hypothesis concerning agent’ and ‘Hypothesis

concerning law’. : %
< o e e I TR s A sy iy )

o STifE Ty e Gas T TS m’a ey 12 Refa e
WWWMQMWWWWWWWW|

Write a short note on Non-moral action. .
sz e es@e «fb b3 GRF el

SiAfes e ST é.m% e Bl (e |

e B A gE e e awEr fo
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18.

Or /[ M2 [ &7 [ TaEr
Is Ethics a practical science ? Explain briefly. 4
Tifcftem wrEite [en 23 (2 s:ﬁ:aswm 4 |
Tfefrem & el e el T FE |
e faftrEe Eﬂ%m‘ faffem = 717 §2'% sea |
State four characteristics of observation. 4
TR BIft! @Y S T4 |

freea oRb @FE S |
AR BHAH A SgAE 79’ |

‘Esse est percipi’ — Explain briefly the statement. 4

oIy oors Feog — FARE HAE T 41|

oty ereTF-RSR — il e D! |

O L

o e A wEE ST — e Ee g3 |

19. Write any four definitions of Religion. 4
sfa R BIfEe) kel 7
Yl (- BRI A Al |
SERMM SErEe qEs 98 e |
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22. How does Hegel describe the nature of the Absolute ?

or / 71Z31 | @Al [ TEr
(ANCE AT e e ikl SRz e

Morality is the source of religion” — Discuss this view. 4
ool 45 B — 92 3\96“1317 SN 1 @O FFTTER Rl SIS WL FEC 2
‘e e SEREM gEr — o SR e | | »
! 23. What is ‘Moksa’, according to Indiaq Philosophy ? What are the
20. Write any four characteristics of Scientific Realism. 4 three paths to attain ‘Moksa’? 2+2=4
e AERavE. Feei oifb! e sl TS v SR G 2 G s fofiol A9 | e e
e AFRITE (TP 5IAMG (AP e | SRS T SRER G 2 U eSOl <l = el 1 e
ﬁﬁﬁmmiﬁmqp@ﬁgﬁ:mﬁ@am1ﬁmaemgmgﬁﬂ| st e S mey's W2 Het' WA W e = oA 2
; or [ 723l | &=
21. State two advantages and two disadvantages of Method of i / el
- 2+2=4 |
Agreement. ' Explain the concept of ‘Artha’ as Purusartha. . 4
- = < wol © Fy G 4| !
o] wafos 9ol Rl S Tl ShI e fEpicel o el g
i Ao i REl GRS 5 eppRel S T | ,
A o afo 7 | \Eﬁ? sEaidl ot oL -aq dEel e I |
e ol T wE e H SRl T . - Rl A
g ‘ e femma ‘ol e s |
or [ 2= [ @i&ar | gt |
What is ‘practical imperfection’ of the Method of Agreement? 4 24. Define Scientific Induction and state’its characteristics. L
) o R el e SR el fral o 2AR CREPRR e =1
oh Amen e wefer 7 T S e ale R G afeEpTE T S
W‘*-Gmmﬁ‘mmfwﬁﬂ@@ﬁﬁfmm? fﬂﬁmﬁaﬁﬁmﬁmﬁmﬁfﬁﬁr@w@@ﬂ@1
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What do you mean by Iﬁduetive Inference ? State the differences

between Inductive inference and Deductive inference. 1+5=6

ST ST e {6 g 2 ST S i o S e A
T 4 | |

S S e G S @I 7 SaEE SR GRS ol S ST
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Define cause. Write the qualitative and quantitative marks of
cause. 4556
e e@El Tl | TR @dsre S AR SR R

SR RG] TG | FIREE @elsie Ak AfTae AEeelE @l

SEFAR PG | STEM TR SR At o smgwRa fow
Or [ 7ig<! | @< [ Tar

Discuss the fallacies of observation. : e

SR (AR SNl S
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SR (TR DAl Tl
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Explain the nature of Hypothesis with suitable examples.
ToRE THIZSOT ARIAS 2R 2o =y 1 |
e THISATT SR 2R oifs 1 < |
ammmaiﬁﬁﬁﬁ#%nmmam'Hmrﬁmﬁwﬁfamgmaﬁ“%@ﬁf
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What, according to Stebbing, are the different kinds of Hypothesis ?
Discuss. 6

(Bfes e oER [fen eeRER & e S S|
(aRtes s e A e 91 12 ST T
e sTiese WH-Aiiff TeH-TaT JSTHRN = A 2 e |
Explain the Method of Difference with concret¢ example. 6
AT TNZFAE Aferad Amios AT SR |
G SRR et Awo =i |
e fafefersh Ry seat @
| or | AR [ @ [ T
Write a note on the Method of‘Con—comitant variation.
He-sifFaen 2eiena gome dfb (G BTl
H-+ifaaee et Bod GBIl (el

St GreTaE est e 4y Wy e
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